# A NEW LOOK AT THE EULER-RODRIGUES FORMULA FOR THREE-DIMENSIONAL ROTATION

Flank D. M. Bezerra and Lucas A. Santos

Communicated by Ayman Badawi

MSC 2010 Classifications: Primary 15A04; Secondary 37E45, 47D03.

Keywords and phrases: Euler-Rodrigues formula; three-dimensional rotations; fractional powers; approximations.

The authors would like to thank the reviewers and editor for their constructive comments and valuable suggestions that improved the quality of our paper.

Flank Bezerra was very thankful to the CNPq (CNPq/Finance Code # 303039/2021-3) for their necessary support and facility.

**Abstract** In this short paper, we review the Euler-Rodrigues formula for three-dimensional rotation via fractional powers of matrices. We derive the rotations by any angle through the spectral behavior of the fractional powers of the rotation matrix by  $\frac{\pi}{2}$  in  $\mathbb{R}^3$  about some axis.

## **1** Introduction

The Euler-Rodrigues formula describes the rotation of a vector in three dimensions, it was first discovered by Euler [4] and later rediscovered independently by Rodrigues [8] and it is related to several interesting problems in computer graphics, dynamics, kinematics, mathematics, and robotics, see Cheng and Gupta [2] and references therein.

Reviews of the Euler–Rodrigues formula in different mathematical forms can be found in the literature, see e.g., Dai [3], Kahvecí, Yayli and Gök [5] and Mebius [6]. Here, we explored the geometric aspect of the classical Balakrishnan formula in [1] to obtain a new algorithm for the generation of a three-dimensional rotation matrix.

Fractional powers have been extensively studied in various branches of mathematics, playing a significant role in the understanding of complex phenomena. They find applications in diverse areas, including differential equations and fractional calculus, see e.g. [9], [7].

To our best knowledge, this treatment on the Euler–Rodrigues formula has not yet been explored in the literature.

## 2 Three-dimensional rotations

Firstly, we present some facts of the theory of fractional powers of matrices. Secondly, we establish the main results of this paper; namely, we review the Euler-Rodrigues formula via the Balakrishnan formula on fractional powers of matrices.

### 2.1 Fractional powers of operators

In this subsection, we recall some definitions and summarize without proof the results of the theory of fractional powers of matrices, in the sense of Balakrishnan [1].

**Definition 2.1.** For  $A \in \mathbb{C}^{n \times n}$  with no eigenvalues on  $(-\infty, 0)$  and  $\alpha \in \mathbb{R}$ ,  $A^{\alpha} = e^{\alpha \log A}$ , where  $\log A$  is the principal logarithm.

Thanks to Balakrishnan [1] we following results are well-known.

**Proposition 2.2.** Let  $0 < \alpha < 1$ . We have

(i)

$$A^{\alpha} = \frac{\sin \alpha \pi}{\pi} \int_0^\infty \lambda^{\alpha - 1} A(\lambda I + A)^{-1} d\lambda;$$
(2.1)

(*ii*) Let  $\beta$  be a real number, then

$$(A^{\alpha})^{\beta} = A^{\alpha\beta}$$

## 2.2 Main results

In this subsection, we present the main results of this paper. We explored the geometric aspect of the classical Balakrishnan formula (2.1) (see, e.g., Balakrishnan [1]) to obtain a new algorithm for the generation of three-dimensional rotation matrices. Here, the matrix representations of linear operators on  $\mathbb{R}^3$  are considered using the standard basis of  $\mathbb{R}^3$ , and  $\hat{\mathbf{n}} = (n_1, n_2, n_3)$  denotes a vector in  $\mathbb{R}^3$  with  $n_1^2 + n_2^2 + n_3^2 = 1$ .

**Lemma 2.3.** The matrix which represents the rotation by an angle  $\frac{\pi}{2}$  about the axis  $\hat{\mathbf{n}} = (n_1, n_2, n_3)$  is given by

$$A\left(\hat{\mathbf{n}}, \frac{\pi}{2}\right) = \begin{bmatrix} n_1^2 & n_1n_2 - n_3 & n_1n_3 + n_2\\ n_1n_2 + n_3 & n_2^2 & n_2n_3 - n_1\\ n_1n_3 - n_2 & n_2n_3 + n_1 & n_3^2 \end{bmatrix}.$$
 (2.2)

*Proof.* Choose two vectors,  $\hat{\mathbf{l}}$  and  $\hat{\mathbf{m}}$ , such that  $\{\hat{\mathbf{l}}, \hat{\mathbf{m}}, \hat{\mathbf{n}}\}$  is a right-handed orthonormal basis. Let  $u = a\hat{\mathbf{l}} + b\hat{\mathbf{m}} + c\hat{\mathbf{n}}$ , with  $a, b, c \in \mathbb{R}$ , be any vector to be rotated by an angle  $\frac{\pi}{2}$  counterclockwise about the axis  $\hat{\mathbf{n}}$ . The resulting vector u' is the vector u with its component in the  $\hat{\mathbf{l}}, \hat{\mathbf{m}}$  plane rotated by  $\frac{\pi}{2}$ 

$$u' = -b\hat{\mathbf{l}} + a\hat{\mathbf{m}} + c\hat{\mathbf{n}}$$
$$= \hat{\mathbf{n}} \times u + \langle u, \hat{\mathbf{n}} \rangle \hat{\mathbf{n}}$$

Consider the standard basis  $\{\hat{\mathbf{e}_1}, \hat{\mathbf{e}_2}, \hat{\mathbf{e}_3}\}$  of  $\mathbb{R}^3$ . If u is written as

$$u = u_1 \hat{\mathbf{e_1}} + u_2 \hat{\mathbf{e_2}} + u_3 \hat{\mathbf{e_3}},$$

then

$$u' = \hat{\mathbf{n}} \times u + \langle u, \hat{\mathbf{n}} \rangle \hat{\mathbf{n}}$$
  
=  $(n_2 u_3 - n_3 u_2 + u_1 n_1^2 + u_2 n_1 n_2 + u_3 n_1 n_3) \hat{\mathbf{e_1}}$   
+  $(n_3 u_1 - n_1 u_3 + u_1 n_1 n_2 + u_2 n_2^2 + u_3 n_2 n_3) \hat{\mathbf{e_2}}$   
+  $(n_1 u_2 - n_2 u_1 + u_1 n_1 n_3 + u_2 n_2 n_3 + u_3 n_3^2) \hat{\mathbf{e_3}}.$ 

Therefore, the matrix representation of this rotation is

$$A\left(\hat{\mathbf{n}}, \frac{\pi}{2}\right) = \begin{bmatrix} n_1^2 & n_1n_2 - n_3 & n_1n_3 + n_2\\ n_1n_2 + n_3 & n_2^2 & n_2n_3 - n_1\\ n_1n_3 - n_2 & n_2n_3 + n_1 & n_3^2 \end{bmatrix} .\square$$

П

**Remark 2.4.** Thanks to the characterization in (2.2) of the matrix which represents the rotation by an angle  $\frac{\pi}{2}$  about the axis  $\hat{\mathbf{n}} = (n_1, n_2, n_3)$  we can obtain a matrix characterization of the linear semigroup generated by  $A(\hat{\mathbf{n}}, \frac{\pi}{2})$ , namely the uniformly continuous semigroup of bounded linear operators generated by  $A(\hat{\mathbf{n}}, \frac{\pi}{2})$ , denoted by  $T(\cdot)$ , has the following explicit representation

$$T(t) = e^{tA(\hat{\mathbf{n}}, \frac{\pi}{2})} = \sum_{n=0}^{\infty} \frac{(tA(\hat{\mathbf{n}}, \frac{\pi}{2}))^n}{n!} = \begin{bmatrix} n_1^2(e^t - \cos t) + \cos t & n_1 n_2(e^t - \cos t) - n_3 \sin t & n_1 n_3(e^t - \cos t) + n_2 \sin t \\ n_1 n_2(e^t - \cos t) + n_3 \sin t & n_2^2(e^t - \cos t) + \cos t & n_2 n_3(e^t - \cos t) - n_1 \sin t \\ n_1 n_3(e^t - \cos t) - n_2 \sin t & n_2 n_3(e^t - \cos t) + n_1 \sin t & n_3^2(e^t - \cos t) + \cos t \end{bmatrix}$$

for any  $t \ge 0$ .

**Remark 2.5.** An explicit formula for the matrix elements of a general  $3 \times 3$  rotation matrix can be find in Rodrigues [8]; namely, if  $R(\hat{\mathbf{n}}, \theta)$  denotes the a rotation by an angle  $\theta$  about an axis  $\hat{\mathbf{n}} = (n_1, n_2, n_3) (n_1^2 + n_2^2 + n_3^2 = 1)$ , whose elements are denoted by  $R_{ij}(\hat{\mathbf{n}}, \theta)$ , then we have the Rodrigues formula

$$R_{ij}(\hat{\mathbf{n}},\theta) = \cos(\theta)\delta_{ij} + (1 - \cos(\theta))n_i n_j - \sin(\theta)\epsilon_{ijk}n_k, \qquad (2.3)$$

where  $\delta_{ij}$  denotes the Kronecker delta, i.e.,

$$\delta_{ij} = \begin{cases} 1, & \text{if } i = j, \\ 0, & \text{if } i \neq j, \end{cases}$$

and  $\epsilon_{ijk}$  denotes the Levi-Civita tensor, i.e.,

$$\epsilon_{ijk} = \begin{cases} 1, & \text{if } (i, j, k) \in \{(1, 2, 3), (2, 3, 1), (3, 1, 2)\}, \\ -1, & \text{if } (i, j, k) \in \{(3, 2, 1), (1, 3, 2), (2, 1, 3)\}, \\ 0, & \text{if } i = j, \text{ or } j = k, \text{ or } k = i, \end{cases}$$

which is called the angle-and-axis parameterization of the three-dimensional rotation matrix.

We wish to derive all the rotations by any angle  $\theta \in \mathbb{R}$  through the rotation by  $\frac{\pi}{2}$  and its fractional powers. To get this result we first explicit, in the following theorem, the fractional power, for  $0 \le \alpha \le 1$ , of the rotation  $A(\hat{\mathbf{n}}, \frac{\pi}{2})$  in Lemma 2.3. It is one of the main results of this work.

**Theorem 2.6.** Let  $A(\hat{\mathbf{n}}, \frac{\pi}{2})$  be the matrix that represents the rotation by an angle  $\frac{\pi}{2}$  about the axis  $\hat{\mathbf{n}} = (n_1, n_2, n_3)$ . For  $0 \le \alpha \le 1$ , the fractional power of the rotation  $A(\hat{\mathbf{n}}, \frac{\pi}{2})$  is given by

$$\begin{split} A^{\alpha}\left(\hat{\mathbf{n}}, \frac{\pi}{2}\right) &= \\ \begin{bmatrix} n_{1}^{2}(1 - \cos\left(\frac{\alpha\pi}{2}\right)) + \cos\left(\frac{\alpha\pi}{2}\right) & n_{1}n_{2}(1 - \cos\left(\frac{\alpha\pi}{2}\right)) - n_{3}\sin\left(\frac{\alpha\pi}{2}\right) & n_{1}n_{3}(1 - \cos\left(\frac{\alpha\pi}{2}\right))) + n_{2}\sin\left(\frac{\alpha\pi}{2}\right) \\ n_{1}n_{2}(1 - \cos\left(\frac{\alpha\pi}{2}\right)) + n_{3}\sin\left(\frac{\alpha\pi}{2}\right) & n_{2}^{2}(1 - \cos\frac{\alpha\pi}{2}) + \cos\frac{\alpha\pi}{2} & n_{2}n_{3}(1 - \cos\frac{\alpha\pi}{2}) - n_{1}\sin\left(\frac{\alpha\pi}{2}\right) \\ n_{1}n_{3}(1 - \cos\frac{\alpha\pi}{2}) - n_{2}\sin\left(\frac{\alpha\pi}{2}\right) & n_{2}n_{3}(1 - \cos\left(\frac{\alpha\pi}{2}\right)) + n_{1}\sin\left(\frac{\alpha\pi}{2}\right) & n_{3}^{2}(1 - \cos\frac{\alpha\pi}{2}) + \cos\left(\frac{\alpha\pi}{2}\right) \end{bmatrix} \end{split}$$

*Proof.* The proof consists of the explicit calculation of the fractional power of the operator  $A(\hat{\mathbf{n}}, \frac{\pi}{2})$  through the formula (2.1) for  $0 < \alpha < 1$ .

$$A\left(\hat{\mathbf{n}},\frac{\pi}{2}\right)^{\alpha} = \frac{\sin(\alpha\pi)}{\pi} \int_{0}^{\infty} \lambda^{\alpha-1} A\left(\hat{\mathbf{n}},\frac{\pi}{2}\right) \left(\lambda I + A\left(\hat{\mathbf{n}},\frac{\pi}{2}\right)\right)^{-1} d\lambda, \ 0 < \alpha < 1.$$
(2.4)

Note that

$$\left(\lambda I + A\left(\hat{\mathbf{n}}, \frac{\pi}{2}\right)\right)^{-1} =$$

$$\frac{1}{(\lambda+1)(\lambda^2+1)} \begin{bmatrix} a^2(1-\lambda) + \lambda(1+\lambda) & ab(1-\lambda) + c(1+\lambda) & ac(1-\lambda) - b(1+\lambda) \\ ab(1-\lambda) - c(1+\lambda) & b^2(1-\lambda) + \lambda(1+\lambda) & bc(1-\lambda) + a(1+\lambda) \\ ac(1-\lambda) + b(1+\lambda) & bc(1-\lambda) - a(1+\lambda) & c^2(1-\lambda) + \lambda(1+\lambda) \end{bmatrix}$$

and

$$\begin{split} A\Big(\hat{\mathbf{n}}, \frac{\pi}{2}\Big)\Big(\lambda I + A\Big(\hat{\mathbf{n}}, \frac{\pi}{2}\Big)\Big)^{-1} &= \\ \frac{1}{(\lambda+1)(\lambda^2+1)} \begin{bmatrix} a^2\lambda(\lambda-1) + 1 + \lambda & ab\lambda(\lambda-1) - c\lambda(1+\lambda) & ac\lambda(\lambda-1) + b\lambda(1+\lambda) \\ ab\lambda(\lambda-1) + c\lambda(1+\lambda) & b^2\lambda(\lambda-1) + 1 + \lambda & bc\lambda(\lambda-1) - a\lambda(1+\lambda) \\ ac\lambda(\lambda-1) - b\lambda(1+\lambda) & bc\lambda(\lambda-1) + a\lambda(1+\lambda) & c^2\lambda(\lambda-1) + 1 + \lambda \end{bmatrix} \end{split}$$

Since

$$\frac{\lambda(\lambda-1)}{(\lambda+1)(\lambda^2+1)} = \frac{1}{\lambda+1} - \frac{1}{\lambda^2+1}$$
$$\frac{\lambda+1}{(\lambda+1)(\lambda^2+1)} = \frac{1}{\lambda^2+1}$$
$$\frac{\lambda(\lambda+1)}{(\lambda+1)(\lambda^2+1)} = \frac{\lambda}{\lambda^2+1}$$

from right side of the equation (2.4) and  $A(\hat{\mathbf{n}}, \frac{\pi}{2})(\lambda I + A(\hat{\mathbf{n}}, \frac{\pi}{2}))^{-1}$ , and by (2.1) we obtain

$$\begin{aligned} A^{\alpha}\left(\hat{\mathbf{n}}, \frac{\pi}{2}\right) &= \\ & \left[ \begin{array}{cc} n_{1}^{2}(1 - \cos\left(\frac{\alpha\pi}{2}\right)) + \cos\left(\frac{\alpha\pi}{2}\right) & n_{1}n_{2}(1 - \cos\left(\frac{\alpha\pi}{2}\right)) - n_{3}\sin\left(\frac{\alpha\pi}{2}\right) & n_{1}n_{3}(1 - \cos\left(\frac{\alpha\pi}{2}\right))) + n_{2}\sin\left(\frac{\alpha\pi}{2}\right) \\ n_{1}n_{2}(1 - \cos\left(\frac{\alpha\pi}{2}\right)) + n_{3}\sin\left(\frac{\alpha\pi}{2}\right) & n_{2}^{2}(1 - \cos\left(\frac{\alpha\pi}{2}\right)) + \cos\left(\frac{\alpha\pi}{2}\right) & n_{2}n_{3}(1 - \cos\left(\frac{\alpha\pi}{2}\right)) - n_{1}\sin\left(\frac{\alpha\pi}{2}\right) \\ n_{1}n_{3}(1 - \cos\left(\frac{\alpha\pi}{2}\right)) - n_{2}\sin\left(\frac{\alpha\pi}{2}\right) & n_{2}n_{3}(1 - \cos\left(\frac{\alpha\pi}{2}\right)) + n_{1}\sin\left(\frac{\alpha\pi}{2}\right) & n_{3}^{2}(1 - \cos\left(\frac{\alpha\pi}{2}\right)) + \cos\left(\frac{\alpha\pi}{2}\right) \\ \end{array} \right] \end{aligned}$$

Finally, cases  $\alpha = 0$  and  $\alpha = 1$  are immediate, and the proof is complete.  $\Box$ 

**Corollary 2.7.** The fractional power  $A^{\alpha}(\hat{\mathbf{n}}, \frac{\pi}{2})$  coincides with matrix  $R(\hat{\mathbf{n}}, \frac{\alpha\pi}{2}) = [R_{ij}(\hat{\mathbf{n}}, \frac{\alpha\pi}{2})]$ , where  $R_{ij}(\hat{\mathbf{n}}, \frac{\alpha\pi}{2})$  is given by (2.3), for  $0 \leq \alpha \leq 1$ .

We are now in a position to give our definition for the rotation matrix by an angle  $\theta$  through fractional powers of the rotation by  $\frac{\pi}{2}$ .

**Definition 2.8.** The rotation by  $\theta \in \mathbb{R}$ , denoted by  $A(\hat{\mathbf{n}}, \theta)$ , is defined to be

$$A(\hat{\mathbf{n}},\theta) := A^{\frac{2\theta}{\pi}} \left( \hat{\mathbf{n}}, \frac{\pi}{2} \right).$$
(2.5)

Note that  $A(\hat{\mathbf{n}}, \frac{\pi}{2})$  is such that the fractional power  $A^{\alpha}(\hat{\mathbf{n}}, \frac{\pi}{2})$  is well-defined for  $\alpha \in \mathbb{R}$ . Theorem 2.6 states that the definition in (2.5) agrees with the classical one given by *Rodrigues* formula in (2.3) for  $0 \le \theta \le \frac{\pi}{2}$ . The following theorem extends this result for  $\theta \in \mathbb{R}$ .

**Theorem 2.9.** Let  $A(\hat{\mathbf{n}}, \theta)$  be the rotation defined in (2.5). Then

$$A(\hat{\mathbf{n}},\theta) = R(\hat{\mathbf{n}},\theta) \tag{2.6}$$

*for any*  $\theta \in \mathbb{R}$ *.* 

*Proof.* Firstly for  $\theta \ge 0$ , it is sufficient to show that (2.6) is satisfied for each

$$\frac{(n-1)\pi}{2} \le \theta \le \frac{n\pi}{2},$$

for  $n \in \mathbb{N}$ . We proceed by induction. The case n = 1 follows from Theorem 2.6. If we assume (2.6) for n, we can prove the result for n + 1. Set

$$\frac{n\pi}{2} \le \theta \le \frac{(n+1)\pi}{2}$$

so that

$$\frac{(n-1)\pi}{2} \le \theta - \frac{\pi}{2} \le \frac{n\pi}{2}$$

Hence

$$A(\hat{\mathbf{n}},\theta) = A^{\frac{2\theta}{\pi}}\left(\hat{\mathbf{n}},\frac{\pi}{2}\right) = A^{\frac{2\theta}{\pi}-1}\left(\hat{\mathbf{n}},\frac{\pi}{2}\right)A\left(\hat{\mathbf{n}},\frac{\pi}{2}\right) = A\left(\hat{\mathbf{n}},\theta-\frac{\pi}{2}\right)A\left(\hat{\mathbf{n}},\frac{\pi}{2}\right)$$
(2.7)

and by induction hypothesis

$$A\left(\hat{\mathbf{n}}, \theta - \frac{\pi}{2}\right) = R\left(\hat{\mathbf{n}}, \theta - \frac{\pi}{2}\right)$$
(2.8)

combining (2.7) with (2.8) we obtain

$$A(\hat{\mathbf{n}}, \theta) = R\left(\hat{\mathbf{n}}, \theta - \frac{\pi}{2}\right) A\left(\hat{\mathbf{n}}, \frac{\pi}{2}\right)$$
$$= R(\hat{\mathbf{n}}, \theta) R\left(\hat{\mathbf{n}}, -\frac{\pi}{2}\right) R\left(\hat{\mathbf{n}}, \frac{\pi}{2}\right)$$
$$= R(\hat{\mathbf{n}}, \theta)$$

above we use some basic properties of the Euler-Rodrigues formula.

Secondly, for  $-\frac{\pi}{2} \leq \theta \leq 0$ , and proceeding analogously to the proof of Theorem (2.6) we can obtain the expression

$$\begin{split} A^{-\alpha} \Big( \hat{\mathbf{n}}, \frac{\pi}{2} \Big) &= \\ \begin{bmatrix} n_1^2 (1 - \cos(\frac{\alpha \pi}{2})) + \cos(\frac{\alpha \pi}{2}) & n_1 n_2 (1 - \cos(\frac{\alpha \pi}{2})) + n_3 \sin(\frac{\alpha \pi}{2}) & n_1 n_3 (1 - \cos(\frac{\alpha \pi}{2}))) - n_2 \sin(\frac{\alpha \pi}{2}) \\ n_1 n_2 (1 - \cos(\frac{\alpha \pi}{2})) - n_3 \sin(\frac{\alpha \pi}{2}) & n_2^2 (1 - \cos(\frac{\alpha \pi}{2})) + \cos(\frac{\alpha \pi}{2}) & n_2 n_3 (1 - \cos(\frac{\alpha \pi}{2})) + n_1 \sin(\frac{\alpha \pi}{2}) \\ n_1 n_3 (1 - \cos(\frac{\alpha \pi}{2})) + n_2 \sin(\frac{\alpha \pi}{2}) & n_2 n_3 (1 - \cos(\frac{\alpha \pi}{2})) - n_1 \sin(\frac{\alpha \pi}{2}) & n_3^2 (1 - \cos(\frac{\alpha \pi}{2})) + \cos(\frac{\alpha \pi}{2}) \\ \end{bmatrix}$$

and so the definition in (2.5) agrees with the classical one given by the Euler-Rodrigues formula in (2.3) for  $-\frac{\pi}{2} \leq \theta \leq 0$ . Finally, an analogous argument of induction as in the first part of this proof shows that (2.5) agrees with the Euler-Rodrigues formula in (2.3) for  $\theta \leq 0$ .  $\Box$ 

**Corollary 2.10.** *The family*  $\{A(\hat{\mathbf{n}}, \theta); \theta \in \mathbb{R}\}$ *, where* 

$$\begin{split} A(\hat{\mathbf{n}}, \theta) &= \\ \begin{bmatrix} n_1^2(1 - \cos(\theta)) + \cos(\theta) & n_1 n_2(1 - \cos(\theta)) - n_3 \sin(\theta) & n_1 n_3(1 - \cos(\theta)) + n_2 \sin(\theta) \\ n_1 n_2(1 - \cos(\theta)) + n_3 \sin(\theta) & n_2^2(1 - \cos(\theta)) + \cos(\theta) & n_2 n_3(1 - \cos(\theta)) - n_1 \sin(\theta) \\ n_1 n_3(1 - \cos(\theta)) - n_2 \sin(\theta) & n_2 n_3(1 - \cos(\theta)) + n_1 \sin(\theta) & n_3^2(1 - \cos(\theta)) + \cos(\theta) \\ \end{split}$$

is a uniformly continuous group on  $\mathbb{R}^3$  with infinitesimal generator  $G: \mathbb{R}^3 \to \mathbb{R}^3$  given by

$$G = \begin{bmatrix} 0 & -n_3 & n_2 \\ n_3 & 0 & -n_1 \\ -n_2 & n_1 & 0 \end{bmatrix}.$$

*Proof.* That family  $\{A(\hat{\mathbf{n}}, \theta); \theta \in \mathbb{R}\}$  is a group is an immediate consequence of the definition of  $A(\hat{\mathbf{n}}, \theta)$  in (2.5). We obtain *G* easily from the definition of infinitesimal generator of a group

$$D(G) = \left\{ u \in \mathbb{R}^3; \lim_{\theta \to 0} \frac{A(\hat{\mathbf{n}}, \theta)u - u}{\theta} \text{ exists} \right\}$$

and

$$Gu = \lim_{\theta \to 0} \frac{A(\hat{\mathbf{n}}, \theta)u - u}{\theta}$$
, for any  $u \in D(G)$ .

Since G is a bounded linear operator, we conclude that  $\{A(\hat{\mathbf{n}}, \theta); \theta \in \mathbb{R}\}$  is a uniformly continuous group on  $\mathbb{R}^3$ .  $\Box$ 

**Remark 2.11.** In particular, we can obtain the explicit expression of the logarithm of rotations  $A(\hat{\mathbf{n}}, \theta)$  thanks to the fact that the logarithm is the infinitesimal generator of the uniformly continuous group  $\{A^{\alpha}(\hat{\mathbf{n}}, \theta); \alpha \in \mathbb{R}\}$  on  $\mathbb{R}^3$ ; namely, we have

$$\log A(\mathbf{\hat{n}}, heta) = egin{bmatrix} 0 & - heta n_3 & heta n_2 \ heta n_3 & 0 & - heta n_1 \ - heta n_2 & heta n_1 & 0 \end{bmatrix}.$$

## References

- A. V. Balakrishnan, Fractional powers of closed linear operators and the semigroups generated by them, Pac. J. Appl. Math., 10, 2, 1960, 419–437.
- [2] H. Cheng and K. C. Gupta, An historical note on finite rotations, J. Appl. Mech., 56 (1989) 139–145.
- [3] J. S. Dai, Euler-Rodrigues formula variations, quaternion conjugation and intrinsic connections, Mech. Mach. Theory, 92 (2015) 144–152.
- [4] L. Euler, Problema algebraicum ob affectiones prorsus singulares memorabile. Commentatio 407 indicis Enestræmiani, Novi commentarii academiæscientiarum Petropolitanæ, 15, (1770), 1771, p.75-106, reprinted in L.Euleri Opera Omnia, 1st series, Vol. 6, p.287-315.
- [5] D. Kahvecí, Y. Yayli and I. Gök, The geometrical and algebraic interpretations of Euler-Rodrigues formula in Minkowski 3-space, Int. J. Geom. Methods Mod. Phys., 13 1650116 (2016) 1–10.
- [6] J. E. Mebius, Derivation of the Euler-Rodrigues formula for three-dimensional rotations from the general formula for four-dimensional rotations, Mathematics, 2007.
- [7] J. C. Prajapati, A. D. Patel, K. N. Pathak and A. K. Shukla, Fractional calculus approach in the study of instability phenomenon in fluid dynamics. Palestine Journal of Mathematics, 2012, Vol. 1(2), 95–103.
- [8] O. Rodrigues, Des lois géométriques qui régissent les déplacements d'un système solide dans l'espace, et de la variation des coordonnées provenant de ces déplacements considérés indépendamment des causes qui peuvent les produire. J. Math. Pures Appl., 1<sup>re</sup> série, 5, 1840, 380-440.
- [9] J. Vanterler da C. Sousa, Thabet Abdeljawad and D. S. Oliveira, Mild and classical solutions for fractional evolution differential equation. Palestine Journal of Mathematics, 2022, Vol. 11(2), 229–242.

J. E. Mebius, Derivation of the Euler-Rodrigues formula for three-dimensional rotations from the general formula for four-dimensional rotations, Mathematics, 2007.

#### **Author information**

Flank D. M. Bezerra, Departamento de Matemática, Universidade Federal da Paraíba, Brazil. E-mail: flank@mat.ufpb.br

Lucas A. Santos, Instituto Federal da Paraíba, Brazil. E-mail: lucas.santos@ifpb.edu.br

Received: 2023-03-19 Accepted: 2023-10-28